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बालबाललका तर्फ  
qm=;= j8f g ljj/0f /sd ? s}lkmot

1 !-!% !-!% sf ;8s, a];fxf/f tyf ljkGg afnaflnsf z}lIfs sfo{qmd 160,000               
2 1 afnjflnsf cled'lvs/0f tyf Ifdtf clea[l4 sfo{sd 50,000                
3 s?ª e~hfª b]lv dl:ht hfg] af6f] lgdf{0f 30,000                
4 s?ª\ db/;fdf d'lZnd lzIff 50,000                
5 2 le/sf]6 @ afnalnsfnfO{ k':tsfno lgdf{0f eL/sf]6 o'jf Sna 65,000                
6 /f]h j8{ o'y sNjsf] ejg /u/f]ug -l;dnrf}/_ 65,000                
7 3 ;/f:jtL k|f= lj sfk]{6 vl/b 40,000               
8 l;tnrf}/ k|f=lj lzz'sIff lgdf{0f 50,000                
9 >L cd/ k|f=lj= ejg dd{t lgdf{0f 40,000               

10 4 sflnsf lg=df= lj ejg lgdf{0f 90,000                
11 /flg8f8f afnaflnsf v]ns'b ;dfu|L vl/b 20,000                
12 dxfnIdL afn aflnsf v]ns'b ;fdfu|L vl/b 20,000                
13 5 v]ns'n ;fdfu|L vl/b  tyf v]ns'b d}bfg lgdf{0f  nfdfrf}/ en'jf8f8f 65,000                
14 v]ns'b ;fdfu|L vl/b tyf v]Ns'b d}bfg lgdf{0f  bfl;{ª au}rf 65,000                
15 6  ltnxf/sf afnaflnsfx?sf] nflu k':tsfno ejg lgdf{0f 80,000               
16 >L Go"  ;f+lutdo ;';]nL ;fem o'jf kl/j/ tyf d~r lgdf{0f 75,000                
17 7 /Tg b]jL :yfg k|f= lj 3]/faf/ tyf lzz' sIff Jofj:yfkg 77,000                
18 u}/f af/L blnt al:t km'nkfltx'b} b]p/fnL ;Dd ljb\ofyL{ lx8g] uf]/]6f] af6f] lgd{f0f 40,000               
19 8 sDKo'6/ vl/b -;=z' p=df= lj _ 130,000               
20 9 bxy'd pRr df= lj=df lzz' sIff lgdf{0f 130,000               
21 10 afnjflnsf v]t d}bfg lgdf{0f wf]jfbL 9fF0f 50,000                
22 hgHof]tL k|f=lj z}lIfs u'0f:t/ a[l4 sfo{qmd 40,000               

23 sIff * ;Ddsf] afnaflnsfx?sf nflu xflh/L hjfkm / lxHh] sfo{qmd dx]Gb| df=lj sf]n8f8f 40,000               
24 11 kf]iffs ljt/0f j8f g !!   30,000                
25 l6kmLg ljt/0f j8f g !! 20,000                
26 b'/Jof;gL lgoGq0f tyf ;fdflhs ;r]tsf sfo{s|d  30,000                
27  blnt -;fsf_ a:tL vf]gkfgL of]hgf l;?vs{  50,000                
28 12 hg Hof]lt lgdflj df sDKo'6/ vl/b 100,000              
29 afn Snj r]tgf d'ns sfo{s|d ;rfng 30,000                
30 13 w'j{ b]p/fnL k|f= lj $ sf]7] ejgsf] 5fgf / uf/f] dd{t 130,000               
31 14 kf}li6s cfxf/ tyf z}lIfs u'0f:t/ a[l4  sfo{qmd hg;]jf k|f=lj kmf]S;Lª 50,000                
32 Snj v]n d}bfg lgdf{0f 80,000               

kmf]Sl;ª v8sf s'jf dd[t tyf af6]f dd{t 20,000                
33 15 hutk'/ jfnSnj cltl/St ls|ofsnfk ;+rfng 50,000                

34
;'g}fnf !))) lbgsf afnaflnsfx?nfO{ ;/;kmfO tyf kf]]if0f ;DalGw s'v'/f kfng Pjd 

kf}li6s cfxf/ ljt/0f 30,000                
35 nIdL k|f=lj= tf/jf/ ug}{ 50,000                
36 hDdf 2,142,000            
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